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A.431 kJ *mol™  B.945.6 kJ * mol !
C.618.4 kJ *mol™" D.649 kJ * mol '
. AH = -
. “ v CAH=E_y +3
1 ( ) o x436 kJ » mol ' =2 x391 kJ e mol ' = —92.4 kJ *
A.Zn(s) + CuSO, ( aq) ==7nS0O, ( aq) + mol ' NH, o
Cu(s) AH= -216kJ * mol ™’ AH=E_, +3x436 kJ *
mol ' =2 x3 %391 kJ * mol "= =92.4 kJ * mol '
B. CaCO; ( s) CaO(s) +CO,(g) AH = E_y =945.6 kJ mol ™’ B .
+178.5 kJ * mol ™'
C.25%C 101 kPa 2H,(g) +0,(g) =—
2H,0(1) AH= -571.6 k] * mol ' H, o
AH =571.6 kJ * mol ™ N
D. H'(aq) + OH (aq) ==H,0(1) AH = “7
-57.3kJ *mol " 1 mol NaOH 3
0.5 mol H,SO, 1 mol
57.3 kJ . o kJ
N CuS0, * SH,0( s) ===CuS0, (s) +5H,0(1)
> AH=Q, kJ * mol !
¢ b 0,0, ()
A.Q,<Q, B.Q,>Q, C.Q =Q, D.
AH <O0; AH >
0; 25°C.101 kPa 1 mol
H, ;
AH= -285.8 kJ » mol "; N 0,>0,
B .
: TAs 0,
CuSO+5H,0(s) o7k CuSOs
. . . 0 0
o ° o P A 5
2 H-H 436 kJ * mol ' !
H-N 391 kJ + mol”" N, (g) +3H,(g) !
. Q=0,+0, Q>0 Q, <0 Q,>0
———2NH,(g) AH=-92.4kJ*mol™" N AL
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. AH, = =726.5 kJ * mol ! (i)
1. 2 M4 (i) -(1)
1 (2011 ) CH,OH(1) +0,(g) ==CO(g) +2H,0()

H,(g) .CO(g) CH,OH( 1)
AH -285.8 kJ * mol ™'\ —283 kJ *
mol ™' -726.5 kJ ¢ mol ™ :
(1) 10 mol
_ kki(2)

AH = -285.8 kJ * mol '

AH= -443.5 k] * mol ™'

1 mol
443.5 kJ
(1)
(2)
2 (2013 )
( CH,0CH,)
( H,.CO Co0,)

AH = +285.8 kJ * mol ', 10 mol (i) CO(g) +2H,(g) ==CH,0H( g)
2858 kJo AH, = =90.1 kJ * mol "'
(2) (ii) CO,(g) +3H,( g =——CH,0H(g) +H,0(¢)
AH, = —=49.0 kJ * mol ™'
1 .
1CO(g) +-0,(g) ==CO,(¢) :
iii) CO H,0( g) ==CO H
AH, = —283.0 KkJ * mol ! (i) ( iii) (g) +H,0(g) ] (g) +H,(g)
3 AH, = -41.1 k] * mol”~
CH,OH( 1) +--0,(g) ==C0,(g) +2H,0(1) .
> AH
(3) .
— —
(1) AH (4)
“+ . = ” o
(2) ( 12013 —12 - 15)



